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WUms: Jata: ___ Ouenka:___
2,748 x 1000000 = 9,455 x 10000 =
9, 155 x 10000 = 4,661 x 10000 =
9,306 x 10000 = 3,453 x 1000000 =
5,905 x 1000 = 10,229 x 10000 =
8,988 x 10 = 1,55 x 100000 =
9,248 x 100 = 8,986 x 100 =
5,929 x 100 = 8, 383 x 1000000 =
6, 191 x 100000 = 1,705 x 1000 =
3,762 x 10 = 3,428 x 100 =
10, 796 x 1000000 = 7,018 x 100 =
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VYMHOXEHHe JCCATHYHBIX 3HAKOB Ha CTCIICHD ACCATU

Nwms:

2,748 x 1000000 = 2748000

9, 155 x 10000 = 91550

9, 306 x 10000 = 93060

5,905 x 1000 = 5905

8,988 x 10 = 89.88

9,248 x 100 = 924.8

5,929 x 100 = 592.9

6, 191 x 100000 = 619100

3,762 x 10 =37.62

10, 796 x 1000000 = 10796000

Jlara: Orenka:

9,455 x 10000 = 94550

4,661 x 10000 = 46610

3,453 x 1000000 = 3453000

10,229 x 10000 = 102290

1, 55 x 100000 = 155000

8,986 x 100 = 898.6

8, 383 x 1000000 = 8383000

1,705 x 1000 = 1705

3,428 x 100 = 342.8

7,018 x 100 = 701.8
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